
 

Solution 2 : (7pt) 

1. calculating P0: 

- D1= $1.00 (Given) 

- D2 = $1.20 (Given) 

- D3 = Year 2 × (1 + g1) = $1.20 × 1.20 = $1.44 

- D4 = $1.44 × 1.06 = $1.52 

- D5 = $1.52 × 1.06 = $1.61 

- D6 = Year 5 × (1 + g2) = $1.61 × 1.03 = $1.65 (4 →0. 5 pt) 

 

 g2 3% (annually forever from year 6) 

 R = 8% 

 

𝑃𝑉 𝐶𝑜𝑢𝑝𝑜𝑢𝑛𝑠 = 80 
1 −  1.06 −12

0.06
 = $670.71 

Solution 1 : 



 Discounting All Cash Flows to Present Value (10% discount rate for Years 1–5): 

𝑃𝑉 𝑜𝑓 𝐷1 =
𝐷𝑡

(1 + 𝑟)𝑡
 

𝑃𝑉 𝑜𝑓 𝐷1 =
$1

(1.10)
= $0.90  

PV D2=$0.99; PV D3=$1.08; PV D4=$1.03 ;PV D5=$0.99 (5 x 0.25 pt) 

 Calculating the PV of Terminal value: 

𝑃5 =
𝐷6

𝑟−𝑔
=

𝐷5(1+𝑔)

𝑟−𝑔
=

1.61(1.03)

(0.08−0.03)
= 330.75 pt 

𝑝𝑣 𝑜𝑓 𝑡𝑒𝑟𝑚𝑖𝑛𝑎𝑙 𝑣𝑎𝑙𝑢𝑒 =
𝑝5

 1+𝑟 𝑛
=

33

(1.10)5
=$20.49 0.5pt 

 

𝑖𝑛𝑠𝑡𝑟𝑖𝑐𝑡 𝑣𝑎𝑙𝑢𝑒 (𝑃0) =  
𝐷𝑡

(1+𝑟)𝑡
𝑛
𝑡=1 +

𝑃𝑛

(1+𝑟)𝑛
 0.5 pt 

𝑖𝑛𝑠𝑡𝑟𝑖𝑐𝑡 𝑣𝑎𝑙𝑢𝑒 = $4.99 + $20.49 = $25.48 0.5 pt 

2. Current Market Price = $18< Intrinsic Value = $25.48 

Since the intrinsic value is higher than the market price, the stock is considered undervalued. 

(0.5pt) 

3. a. FCFE 

FCFE = Net Income + Depreciation – Capital Expenditures – Change in Working Capital + 

Net Borrowing (0.75pt) 

(FCFE) = 120 + 15 – 40 – (-10) + 5 = $110 million (0.5pt) 

b. Cost of Equity using CAPM 

Market Return (Rm) = 5% of FCFE  

Rm= 5% × $110 = 5.5% (0.25pt) 

Cost of Equity (re) = Rf + β × (Rm – Rf) (0.5pt) 

(re) = 3.2% + 1.37 × (5.5% – 3.2%)= 6.35% (0.5pt) 

 

Solution 3 : 

1 → B 

2 → B 

3 → A 

4 → D 

5 → B 

6 → B 


